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“+” is the symbol of plus. It means addition.
5 1s the sum of 3 and 2.
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Fill in the boxes with numbers :

'i' and v_ﬁg g; is equal to | cEo
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Draw Strokes And Add :
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Add The Following :




Tick () the correct option :(Multiple Choice Questions):




We can also use a number line for adding numbers.

For addition, we count forward.
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E
always start
from0.

=

0+1=1
1+1=2
2+1=3

3+1=4
4+1=5
5+1=6
6+1=7
7+1=8"




Let us add 3 and 6 on the number line.
We first mark 3 and then count 6 more on the number
line. Then, we reach at a point marked 9.




Fill In The Boxes :




Match the question to its answer :(Word Problems)

1. Ram buys 6 balls and his brother
buys 3 balls. How many balls do
they buyin all ?
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2. There are 6 mice in one room
and 2 mice in another room.
How many mice are thereinall ?
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3. There are 3 cows in one field

and 2 more in another field. How
many cows are there in all ?

4. Ramesh brought 5 apples and

Sita brought 2 apples to school.
How many apples did they bring ?
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Answer The Following:

1. Shyam had 2 toffees. Sita gave him
3 more toffees. How many toffees
did Shyam have now ? + 3

- B have 4 mangoes. My sister has
3 mangoes. How many mangoes
do we have ?
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3. There are 5 bll’dS on one branch and
4 birds on the other. How many birds
are there on two branches ?

4. A juggler has 4 monkeys and
2 bears. How many animals

does the juggler have ?




—— Add And Match /<

Draw the lines joining each number of the left
group with the mid-number to match the answer
(sum) of the right group. Use different coloured pencils




Fill In The Boxes:

4+3=
4+2=
2+ 2=
J+2=
6+2=

y

2+4=
§+1=
6+1=
7+1=
5+¢1=

147=
6+3=

1+8-=
J+4=

146=
2+3=
144=

145=




Fill The Following Addition Table :

+ - 2 3 + b 2
+ +
1 1
2 4 4
3 6 5 7/
+ - 3 2 + b 2
+ +
3 2
2 5 1
1 3 3 5




